LIP-1 3HD COMPRESSOR EAR MOUNT

QP-13HD

Discharge: 1.52 MPag, Suction: .182 MPag
S.H./S.C.:10/5deg K

90

Capacity

80

70

60

50

40

COP, CAPACITY (kW), POWER (kW)
(9,
VOLUMETRIC EFFICIENCY (%)

30

20

500 1000 1500 2000 2500 3000 3500 4000 4500 5000 5500
Compressor RPM

COMPRESSOR SPECIFICATIONS MAGNETIC CLUTCH SPECIFICATIONS
Model QP-13HD Type Electromagnetic Single Plate
Type Swash Plate Dry Clutch
Number of Cylinders 6 Rated Voltage 12V DC or 24V DC
Bore 36 mm (1.42 in) Belt Ply "V" 6K Type
Stroke 21.4 mm (0.84 in) Current Consumption 3.75 amperes (max)
Displacement 131 cm3 (8 cu. in) Static Torque Initial: 35 Nem (3.5 kgim)
Permissible Speed 700-6000 rpm After burnishing: 49 Nem
Refrigerant R-134a (5 kgfm)

Lubricant PAG 46 Rotation CW/CLW
Qil Charge 150+20 cm3 Weight of Clutch 2.25kg (5.0 Ibs)
Total Weight 6.7 kg (14.7 1bs)

972.731.9494 P |

972.731.9495 F | WWW. TCCIMFG.COM




135 mm ) 233mm_APPROX

47.Tmm
/8% 1 4UNF | 3/4- 1 6UNF 12 7 mm .
SUCTION i DISCHARGE n 72N A V—
T \ / IV -
- (
g ¢ O
| = —
o 2 a £
| ‘ g
| ]] o
104mn A J ol e
124 mm | 14.35mm
16mm | 14.35mm
83.3mm
3E=3 eye 39.6 1 12mm
mm
SL=Spring Leaf
COMPRESSOR ASSEMBLY COMPRESSOR MANIFOLD CLUTCH
QUE CROSS PULLEY
PRODUCTS REFERENCE CROSS CROSS MOUNT FITTING FITTING DIAMETER PULLEY VOLTAGE
NUMBER NUMBER REFERENCE REFERENCE TYPE STYLE TYPE DESCRIPTION (MM) TYPE NOTES (V)
QP13-1144 2521144 488-44038 435-54038 HD Ear Bolt V-3/4X7/8 123 6PV 3E 12
QP13-1145 2521145 488-44070 435-54070 HD Ear Bolt V-3/4X7/8 135 2A 3E 12
QP13-1148 2521148 488-44234 435-54234 HD Ear Pad H - Pad 123 8PV 3E 12
QP13-1149 2521149 488-44236 435-54236 HD Ear Pad H - Pad 123 8PV 3E 24
QP13-1271 2521271 488-44010 435-54010 HD Ear Bolt H-1X14 135 2A 3E 12
QP13-1272 2521272 488-44014 435-54014 HD Ear Bolt H-1X14 123 8PV 3E 12
QP13-1273 2521273 488-44082 435-54082 HD Ear Bolt H-3/4X7/8 135 2A 3E 12
QP13-1274 2521274 488-44122 435-54122 HD Ear Bolt H-3/4X7/8 123 8PV 3E 12
QP13-1290 2521290 488-44012 435-54012 HD Ear Bolt H-1X14 135 2A 3E 24
QP13-1291 2521291 488-44071 435-54071 HD Ear Bolt V-3/4X7/8 135 2A 3E 24
QP13-1292 2521292 488-44074 435-54074 HD Ear Bolt H-3/4X7/8 135 2A 3E 24
QP13-1302 2521302 488-44120 435-54120 HD Ear Bolt V-3/4X7/8 123 8PV 3E 12
QP13-1310 2521310 488-44039 435-54039 HD Ear Bolt H-3/4X7/8 123 6PV 3E 12
QP13-1312 2521312 488-44041 435-54041 HD Ear Bolt H-3/4X7/8 125 2A SL 12
QP13-1446 2521446 488-44210 435-54210 HD Ear Pad H - Pad 135 2A 3E 12
QP13-1460 2521460 488-44123 435-54123 HD Ear Bolt H-3/4X7/8 123 8PV 3E 24
QP13-1501 2521501 488-44218 435-54218 HD Ear Pad H - Pad 123 6PV 3E 12
QP13-1502 2521502 488-44220 435-54220 HD Ear Pad H - Pad 123 6PV 3E 24
QP13-1503 2521503 488-44222 435-54222 HD Ear Pad H - Pad 125 2A SL 12
QP13-1504 2521504 488-44370 435-54370 HD Ear Bolt V-3/4x7/8 135 2A SL 12
QP13-1150 2521150 488-44320 435-54320 HD Ear Bolt V-3/4x7/8 123 8PV SL 12
QP13-1668 N/A N/A N/A HD Ear Pad H - Pad 135 2A 3E 24
QP13-1505 2521505 488-44382 435-54382 HD Ear Bolt H-3/4X7/8 135 2A SL 12

972.731.9494 P 972.731.9495 F | WWW. TCCIMFG.COM




